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1. What are the solutions to the equation3xl o e i

A x=_15andx=0
B. x=0andx=15
C. x=0andx=45
D. x=_48and x=0

2. Which function is related to the quadratic equation that has -6 as its only solution?
A Ax)=xt+12x+36
B. flx)=x"—12x+36
C. f)=x>-36
D flx)=x*+6

3. What are the solutions to the equationy, 2 3. 4 _ (9

A 34T
4
B. ,_—3+.41
2
C. -3z
4
D. ,_-3%413

b

4. Which value of x is a solution to x2 + 8x — 16 = 0?

A -8
-4
4
8

oW o® oW
I

B
C.
D
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5. What are the solutions to the equation below?
2x%-3x—-12=0

A —3t,87
4

B. 3zx,87
2

C. —-3x,105
2

D. 3zx,105
4

6. Which is one root of the equationvE — =3 =7

A 3_4’3
B. 3_21\]{?
C. 3-4.3
D. 3-2.06

7. An equation in the formﬂz ey )iS solved by the quadratic formula. The solution to the
equation is shown below.

-5+ 413
2
What are the values of a, b and c in the quadratic equation?
A a=1,b=5c¢=3
B. a=1,b=-5,¢=3
C. a=2,b=-5,¢=3
D. a=2,b=5,¢c=3

8. Which quadratic equation hasﬂas its root?

2

oo w2
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9. For what values of tdoes(ﬁ +8(1-A= 107?

A _gand 4
B. _—gand 1
C. _—4and—1
D. 2and3

10. What are the solutions to,2_ 6 +10=07

A x=7andy =4

B. x=-10andy =—4

C. x=3+@ndx=3—;
D. x=-3+p@dx=-3-j

11. Use the quadratic formula to solveqrz T .,

A 7 413 7 73
S G

B »=-3 and ——i

C. ?Jﬁmd? 73
4 4 4 4

2
12. solvezx_r —S5x—3= Ufor X.

A S5 or x=-3
B. x:——; or x=73

c. xz—iorxz—?r

D x=—;0rx=3

13. What are the solutions to the equationaxl e =0

A Nt
o 2z

B. i 11+ 121 —dac
h 1a
C. —11+ 121 - dac
Emie———————
2a

D. _ -l -T2 dac

2a
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14. What is the first step in the solution of3x2 il la,by completing the square?

2

A rix=2
2

B x4+ 2x=4

C.

X+ 6x+9=12+9
Do 3l 4 6x+36=12+36

15. What are the solutions ton _ 2 _18x+ 377

A x=-3andx=6
B x=-2andx=9
C. x=2andx=16
Do x=4andx=28

16. Kinetic energy is produced when an object is moving. The kinetic energy of an object can be
modeled by the equationg — _:'Vl where Krepresents the kinetic energy in joules and v
Pt

represents the velocity of the object in meters per second. If the kinetic energy of an object is
125 joules, what is the velocity of the object in meters per second?

A 5

B. 10
C. 50
D. 100

17. Which of the following quadratic functions has roots,. — 3 3nd = —17

A xz—lx—B
B x?_4x+3
c. x2+2x—3
D xlt4x+3

18. The first two steps in the solution oquz s Pl zby completing the square are shown below.

Step 1:x? —5x =

,'_||L\;.:l\.JIU|

Stepl:x2—5x+ +

b | s
-1

Step 3:7

Which equation is Step 3 in the solution?

A (. 5\ 33
-3)-
I

iy oy
B. (L 5} 35
[_x AR
x——| =—
T
D. 552_ 33
[x z} 4
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19. What are the solutions to the equation_qrz +10¢=07
A t=_szandt=0
B. t=_jJandt=_5
C. t=2andt=5
D. t=0andt=5

20. What is the solution set for the equatlon <ol L8

A {3}
B. {9}
C. {-3.3}
D. %5

21. Which value of, -. (jis a solution to(x —12)x+8)= 0?

A x=-12
B. x=-8
C. g

D. x=12

22. What value should be substituted for n in the quadratic formula below to solve

Tt .7
L
A 2

B. 26

C. 37

D. 61

23. What is the solution set for the equation3x2 P

A {—2+4’ﬁ —E—Jﬁl
3 ” 3 J
B. {2+4’ﬁ E—Jﬁl
3 7 3 J
C. 24010, 2-~.J10]
D. ¢2+.10.2- 101

24. What is the solution set for the equationxl < e i

A {-13. 10
B. {-5.2}
C. 13
D. {10, 13}

—T7x+3=07
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25. To find the roots of the quadratic equation»,xz . Carla correctly applied the quadratic
formula. Which of the following is that correct application?

A o SR J—47 - 120

22)
B. s —414(—4}1 — 4{—4)3)
2(2)
C 400
= 2A2)
P _ 9z’ -200)
Iy

26. Marcus is solvinga,xz — []by completing the square. His work is shown.

Step 1:~,x2 PE—

B, .. M.
T T

C o I | 1 3 1
e AT

D. T
TSR i

27. What are the solutions to the equatlonxz e S S a8

A x=-3orx=-10
B. x=-3o0orx=10
C. x=3o0orx=-10
D. x=3o0rx=10

28. What are the solutions to the equation(x +3¥x — 1) =57

A x=2o0rx=6
B. x=-4o0orx=2
C. x=8orx=4
D. x=-3orx=1

29. What are the solutions for x in the equationxz 10 D = U?

A 20r100
B. 4o0r50
C. 8or25
D. 10o0r20
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30. Jonah threw a tennis ball straight up in the air. The ball traveled up to a maximum height, then
fell back down to Earth. The height of the ball at various times after being thrown is shown in
the table below.

Height of Jonah’s Tennis Ball

Time Height
(seconds) (feet)
1 40
2 42
3 12
The height of the ball as a function of time is described by the function Fr _lﬁrz + 50+ 6 At

which of the following times was the ball located exactly at a height of 41 feet?

A 1.35 seconds
B. 1.50 seconds
C. 1.95 seconds
D. 2.07 seconds

31. The formula gives the acceleration (a) of an object moving in a circular path at a constant
speed. Let r represent the length of the radius of the circular path, and let v represent the
constant speed of the object.

-

v
a=—
i

Sandra is riding a bicycle on a circular training track with radius of 32 meters. If her

L : . ; - NS
acceleration is 8meter5-'5econd‘=at what speed in meters/second is she traveling?

A4
B. 16
C. 128
D. 236

32. What are the roots of the equatlonxz e By D

A 9:.T5
2
B. -2+.f50
2
C. 9.7
2
D. 9+.17
2
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33. What are the solutions of the equationa,xz 43— =07

A 3+.041

——

B. -3+.J41
2

C. 3+.41
4

D. 3+./41

[2¥]

34. The functionS = ml B - Smodels the growth of book sales in m months, where S is an
amount in thousands of dollars. In how many months do book sales reach 80 thousand dollars?

A 6 months
B. 8 months
C. 9 months
D. 12 months

35. Solveﬁxz _ 1 =  The answer must be in simplest form.

L2X —

A 1x2.]7

6
B. 1+247

6
C. -1+.7

§
D. 1.7

§

36. What are the solutions of the equation. 2 . . 1 _ (9

A x=-3+2.20x=-3-2.02
B x=3+2,20x=3-2.2
C. x=-3+.J100%x=-3-.10
D. x:3+m°rx:3—m
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37. What is the next step in the solution to this quadratic equation?

22— 6x—8=0
a=2.b=—6c=-8

A —H6) £ 4(-6)" —42)(-8)

s 202)
B 200+
= 22)
C. e R 62— 42)(=8)
& 22)
D. o SRS 62 -4x®)
= A2

38. What are the roots of 1.2, 4 _ 7,9
o

-2-2.f3and-2 + 2.3
2-2.J3an2 +2.3
—4-4,f3a0d4 4 4.3
4—4.3andq 1+ 4.3

oo w >

39. Which of the following numbers is one root of the equatlonxz o dopa e i

A z_lu.'g
B E—ME
C. 2-2.2
D. 2-2.06

40. What are the solutions to the equation below?

4x24+9=25
A -1,1
B. —2.,2
Cc. —4,4
D. —8.,8
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41. Using factoring, which value of x is a possible solution to the equation3xl 4+ 15% =07

A x=-15
B. x=-5
C. x=-3
D. x=35

42. What are the solutions to,4.2 L 3600 = 07

A £15
B. 130
C. =£15
D. 130

43. Which equation can be used to solvexz e 12 = []by factoring?

x —

(x—6)x—2)=0

B. (x—6)x+2)=0
C. (x+6)x—2)=0
D. (x+6)x+2)=0

44. Elise solved the quadratic equationqxz st e []by completing the square. The first two steps
of her solution are shown.
o
Step 1: x2+ = +2=0
Ox

z

Step 2: x + -2
Step 3.

What should be Step 3 in solving the equation by completing the square?

A 7. S O g
X+ +-=-2+-
2 4 4
B 2 Ox 81 81
=+ —=-2+—
p 16 16
C 7 T O o
Sl S
P 4 4
D. O B B
2 16 16

45. If (3, 2) is a solution to, _ .2 . ;.. thenw =
A =T

B. -1

cC. 7

D. 11
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46. Which of the following numbers represents the solution to the quadratic equation
)
x°+12x-27=07

A 61647
B —12+6.7
C. —6+3.7
D. _12+3.f7

47. What are the roots of 1,2 _ . 4 39
3

A 1t.-5
B. —1+.7
C. 127

D. 22,7

48. What are the solutions to(;: — 2(x — 4) = —1.047

A 3+02iand3-0.2:
B. 6+0.2iand6—0.2:
C. D96and2.96

D. 2Zand4

49. The area of the trapezoid below can be found by the formula 4 — _i"T’?(E’l + b7).

" by 5

e bz »

The area of this trapezoid is 30 square inches. If.{:1 = hrand .52 =} + 7.what is the length of hin
inches?

A 4

B. 11
C. 15
D

26.5
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50. Curtis solves the quadratic equatlonxz 3+ I0ra 24 = Dby completing the square. His work is

shown below.

Step1:,2 | 10x =24

Step 2,2 1 10x +25 =24 +25

Step 3:(y + 5)3 =]

Step 4: ?

Which of the following equations should represent Step 4?
A x+5=0

B Ja+5? =241

C x+5'-1=0

D Ja+52-1=.0

51. What is the solution set for the following equation?

x°—8x=9
A L
B. {-1.9}
C. {1.9}

D. {9 17}

52.

A 2423
B. 2+2.3
C. —4+4.3
D 4

. . . . :
53. Which set contains the solutions to the equatlonx_ e D=

A {-6.2]
B. 3]
C. {-3.4}
D. {-2.6]

54. What are the solutions to the equationxz — 10+ 16=107

A x=8orx=_2
B. x=_gorx=4
C. x=_1gorx=—1
D

x=2o0rx=8
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55. A frame x inches wide is shown around a 12-inch by 18-inch rectangular picture. The area of the
framed picture can be represented by the expression(2x + 12)(2x + 18).

18 inches X

12 inches

What is the width of the frame if the area of the framed picture is 391 square inches?

A 5 linches
2

B. 3 linches
2

C. lz_linches
7

D. ]?_linches
2

56. What is the length, in meters, of the shortest side of the right triangle below?

29 meters
X meters

(x + 17) meters

A 4
B. 7
c. 17
D. 24

57. Using factoring, what are the solutions to the equatlonxl L Or 4+ B=07

A x=-2orx=-4
B. x=-1orx=-8
C. x=1orx=8
D. x=2orx=4

58. Which of the following quadratic functions has roots_j M.'Eand_l s M.'EF_J

)
A xl_2x—4
2
B %2+ 2x+1
C x?+2x—14
Do %2 _2x+1
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59. Use the quadratic formula to solveL.2 +9y=8

- fs
Il Il

| |
= Y ¥
I+ I+

=
e

itum
= 2
A2
B. 17
C. 18
D. 33

61. Which gives the solutions of the quadratic equation

A prdfe?sa

R 2

B —pxdp-dac
L 2

C. bt fp’dac
e 2a

D ~btAb?~dac
=

62. An equation in the formaxz S

equation is shown.

3+ .17

=
2

m:2+EJx+c:U?

Uis solved by the quadratic formula. The solution to the

What ar_e the values of a, b, and c in the quadratic equation?

A g=1 5b=3c¢c=-2
B a=1 b=-3 c=-2
C. a=1 b=-3 c=-1
D. a=1, =3, c¢=-1

63. What is the solution set for(x + 1)2 ol PR

A (=5, 3]
B. {-3, 1}
C. {-3, 5]
D. {-1, 3}
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64. For which values of x is this equation true?

2
x—yy =z
fvtz]
bE.z)
iz

vt .Jz]

>

oo W

65. What is the solution set to the quadratic equation shown below?

(-2

A ;{=£iif
2 2
B. ;{:%+%:
Y
" xefed

66. The functionh(f} — —16¢ + 75¢ + 8omodels the height in feet, h, of a ball as it is thrown into the

air at time, t, in seconds. At which of the following times will the ball be 124 feet above the
ground?

A 3 seconds

B. 4 seconds

C. 5 seconds

D. 10 seconds

67. Solvexz oot dles U_The answer must be in simplest form.

A —1+.413
B. 113
C. -1%413
2
D. 1x.13
2
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68. A right triangle is shown below.

xft

|

(x +3) ft 15 ft

The relationship between the 3 sides of the triangle is represented by the equation
x3 +(x+ 3}2 — 225 What is the length, in feet, of the shortest side?

A 2
B.

C. 9
D. 12

69. What are the solutions to the equationg. 2 . 13, . g _(7

A il 3
Wy W g
1
B. x=—"0lx=-3
3
C. x:——lorx:—l
2
D. 1
x=—0lx=—6
6

70. What are the solutions to3(,. _ gy? — _18(?

A _9+2if15
B. —9+4if15
C. 9+2if15
D

9+ 4i.f15

71. What are the solutions to the equation below?
8b%-7=193

A b=+5
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72. Which values of x in the equation are true?

(x—4) =10

A {-101 .04}
B. {—4+./10]
C. {4+.M10}
D. {10+ .f4}

73. Which expression represents the solutions for the equation3m2 + o2 — 7

A —4+.J10
3
+

O w
L |k
I+
| b
(]
Bl
=

O
I+
twd | o
5]

74. Which expression represents the solutions of the equation3n2

A 4+.13

—8n—-1=07

(@] w
- o
I+ I+
Lo | b e
a5
L

O
e
1+
i | B e
=

i i i 7 2
75. Which statement is true for the equatlonx_ TR, WU SN O e

A The equation is never true.

B. The equation is true for all values of x.

C. The equation is only true for positive values of x.
D. The equation is only true for negative values of x.

76.

A pen is dropped on the moon. The acceleration due to gravity on the moon is 1.67 meters per
second squared. The pen is falling at a rate of 2 meters per second when it is 8 meters from the

ground. The equation that models this is[]_5(]_|5?.}g2 + 27 — 8 = ) where tis the time in seconds.

Approximately how many seconds will it take for the pen to reach the ground?

A
B.
C.
D.

1.66
212
4.51
7.18
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77. An equation in the

formﬂz o []is solved by the quadratic formula. The solution to the

below.

What ar_e the values of a, b, and c in the quadratic equation?

equation is shown

-6t .4
=

2

A a=1, b=65,
B. a=1 b=-6,
C. a=2 b=-6,
D. a=2 b=6,

78. What is the solution set for the equationx

A J[_giml

(B
| S—

A 2+43 2+

gl 2
B. 2+43 2-.3
1 2
C. 2+45 2+.5

2
D. 2+.5 2-.5

I

2+ ox =57

80. What is the solution set of the equation(x =3 4)3 =257

A {-29.21)
B. {-21,29}
C. {-9.1}
D. {-1,9}
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81. What value of x makes the equation4 - xz . xtrue?

A 1zx13
=¥

B. 1+.13
7

C. 1z.21
=¥

D. 1+.21

2

82. The formula below gives the acceleration (a) of an object moving in a circular path at a constant
speed. Let r represent the length of the radius of the circular path, and let v represent the
constant speed of the object.

1
v
a=—
¥

Janis is riding a bicycle on a circular training track with a radius of 54 meters. If her

. : - . ..
acceleration is Gmetera-'ﬁecond" at what speed is she traveling in

meters/second?
A9

B. 18

C. 162

D. 324

83. What number should be added to both sides of the equation below if you were going to solve
the equation by completing the square?

p 1
x4+ —x=4

a

A |

36
B. 1
]
C 1
3
D. 2
3

84. An equation in the formaxz ey OIS solved by the quadratic formula. The solution to the
equation is shown below.
—Tx 433

p
What are the values of a, b, and c in the quadratic equation?

A a=15b=7 c=-1
B. a=1, b=-7, c=-1
C. a=12 b=-7, c=-1
D

a=2 b=T7, c=-1

=
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85. What is the value of this expression forg =1 5 =4and._ 17

o

2a

-2+ 43

86. Which statement is true for the equation3(x et 1)2 =2(x-1)?

A The equation is never true.

B. The equation is true for all values of x.

C. The equation is true for some positive values of x.
D. The equation is true for some negative values of x.

87. What is the solution set for the equation3x2 33— 5=17

A i_ —21
Y
B. [ |2,
Vi
c. i1
| 37
D. {2 ,]
B

88. A projectile was projected into the air off a rooftop with an initial velocity at 32 feet per second.
The quadratic equationh - _lﬁrz +3%4 »,4Urepresents the height, h, of the projectile t seconds

after it was projected into the air. According to the equation, how many seconds should it take
for the projectile to hit the ground?

A 3
B. 5
C. 75
D. 15

89. What are the values of x in the equation(x + 3)2 =67

A {6£.3]
5 {31463
MREEDLY
D

6.3}
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90. A ball is thrown upward from the top of a building that is 240 feet tall. The distance, d, between
the ball and the ground t seconds after being thrown is given by the equation
o _lﬁrz +32¢ + 240 After how many seconds will the ball hit the ground?

A

B
C.
D

[ o]

=Ly L
L

91. Eric is solving the equation x*—5x+6=0 using the steps below.

Step1: x2-5x = -6
Step2: x°-Sx+25=-6+25
Step 3: (x-5)*=19
Step 4 x—=5=2%419

Eric finds out that his final answer is incorrect. During which step did Eric
make his initial error?

A

B.

Step 1
Step 2
Step 3
Step 4

92. Which quadratic function has 3 as its only root?

A

B
C.
D

f)=x"—-9
fe)=x"+9
f)=x"—6x+9
fe)=x"+6x+9

93. Which of the following equations is most likely to be a step in the solution ofxz Ty I:be
completing the square?

A

B
C.
D

x+2)2=6
x+2)?%=10
Gc+4)2=10

G+ 4)2=22
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94. A man drops a ball from the top of a 300 foot cliff. The height of the falling ball is modeled by
}3(;} = _1|5,f2 + 300where his in feet and tis in seconds. How long does it take for the ball to be

44 feet above the ground?
A 4 seconds
B. 9 seconds

C. 16 seconds
D. 19 seconds

95. Robert stands 13.75 feet from a basketball hoop, ready to shoot a
basketball. The rim of the basketball hoop is 10 feet above the floor.

13.75 feet

aa

When Robert shoots the basketball, the following formula calculates y,
the height of the basketball (in feet) as a function of x, its horizontal
distance (in feet) from its initial point of release.

5,2, 97
22" 50

y=- X +6

As the basketball approaches the hoop, it will go through the hoop if the
formula indicates that the ball's horizontal distance is between 13.55 and
13.95 feet when its height is 10.0 feet. Does the ball go through the
hoop; why or why not?

A No, it will not go through the hoop because the ball is 11.33 feet
away from the basketball hoop when it reaches a height of 10.0 feet.

B. No, the ball will not go through the hoop because the ball was 13.75
feet away from the basketball hoop when it reaches a height of 10.0
feet.

C. Yes, the ball goes through the hoop because the ball is 0.12 feet
away from the basketball hoop when it reaches a height of 10.0 feet.

D. Yes, the ball will go through the hoop because the ball is 0.17 feet
away from the basketball hoop when it reaches a height of 10.0 feet.
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96. What is the solution set for the equation..l , - . 19 _ 7

A {-6.-2]
B. =5
C. {2.6
D. (3.4

97. To find the roots of the quadratic equation2x2 N - I:,_Carla correctly applied the quadratic
formula. Which equation represents the correct application of the quadratic formula?

A -3+ 43 - )
22)

B. 32 3P - 43

22)

C. (3 43 - 43X

22)

D ey

202)

98. Which equation has roots of =7 and 4?
A G+ THx—4)=0
B. (x—T)x+4)=0
C. (x—THx—-4)=0
D. (x+T)x+4)=0

99. What is the solution set for(, _ 2}2 —16=07

A {6]
B. {18}
C. {-6.2}
D. {-2,6]

100. An equation in the form Uis solved by the quadratic formula. The solution to the

7
o+ bt e=
equation is shown below.

-3+ 417
2
What are the values of a, b, and c in the quadratic equation?

xB=

a=15b=3 c=-2
B. gq=1,b=-3,¢c=-2
C. g=2, b=-3, c=-1
D. gq=2, b=3 c=-1
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101. What are the roots of the equation-

A

P+ 1=5x7
5117

4
—5+.17

2
5+.17

L
I+

.
&

(%)

. . . . )
102. Which expression represents a solution to the equatlonx_ e JO0= 0T

A

B
C.
D

x=1-2.011
x=1—m
x=—1+m
x=-1+2J11

103. Which expression represents the proper use of the quadratic formula to solve the equation

2t + Tx—6=07
A T+ .40 48
TrASeB
B. —-7Tx4490+48
SELARR
C. T+.40-48
e
D. 7% 449+43
TEAEes

104. What are the solutions toa,xl s e Uusing the quadratic formula?

A

e,
]

=
L3

H

|
[+ EEl PRI o P
.

|se
Eﬂ-l—|z£‘4-—

H

E S TR N Y
-I—|Z4—_|-|—
puard

105. An object fell to the ground from a height of 288 feet. The equation 0 = 288 - 48t - 16¢ can be

used to determine t, the time in seconds it took for the object to hit the ground. At what time
did the object hit the ground?

A

B.
C.
D

2 seconds
3 seconds
6 seconds
9 seconds
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106. The period of a pendulum is the time it takes for the pendulum to swing and return to its
original position. The relationship between the period ¢, in seconds and /, the length of a
pendulum in meters, can be approximated by the equationrl Al =0 Which time is closest to

the period of a pendulum 6 meters long?

A

B.
C.
D

5 seconds
6 seconds
9 seconds
24 seconds

107. What is the solution set of the equation3x2 +33x— 8 =07

7

-4
"
{__1 gl

108. What is the set of solutions for 3x*—12x =10, rounded to the nearest
tenth?

A x={0.2, -4.2}

B.

x={-1.7,5.7}

C. x=4{-0.7.4.7}

D. x=1{1.2,2.8}

109. What are the x-intercepts of the graph of |, _ 3.2 . 7, _ 7?

A

B.

et J 4B
and :

=
3

a
o e
e
3 a
C. =i ey,
and =
3 3
D. —1+4.5 —1-4.3
- and —
a
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110. What is the solution set for the quadratic equation below?

A2+ 12k+8=0

A 453 5
B. 2.1}
C. {1, 2

D. {1, 2, 4)

111. Saolve 2x3_3x_9=[] for x.

3
A x=——or x=—3
]
3
B. x=——orx=3
2
3
c. x:;orx=—3
D o
x:;t}rx=—1

112. What are the roots of the equation3pl —8p—-2=07
A 4+J10 4-J10

3 ' 3
B. 4+.J10 —4+.J10

a A
C. 4+.422 4-.J22

TN S
D. 4+.22 4+.2

3 |

113. To solve the equationxl i zby completing the square, what number should Marisol add to
both sides of the equation?

A -5
B. 1
n
c. 1
2
D. 1

A —11+.J61
e
B. —11x.61
6
C. -11+.181
2
D. —11+.181
6
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115. What are the solutions to the equation 13x*—17x+7 =07

A 174543 17-5{3

26 ' 26

B. 17453 17-5i/3
26 26

C. -17+5J3 -17-5J3
26 26

D. -17+5//3  -17-5iJ3
26 ’ 26

116. Bill knows that the sum, S, of the first n positive even integers can be found using the formula
S = n(n + 1) He added the first n positive even integers, and the sum was 380. What is the

value of n?

A 19
B. 20
C. 38
D. 39

117. From a cliff, a ball was thrown downward at an initial velocity of 28 feet per second.
The distance the ball had fallen is given by the function di) = 16:2 + 28p Where tis the time

elapsed in seconds. If the ball took 2 seconds to hit the ground below the cliff, how many
seconds did the ball take to falllof the way to the ground?

4
A 0.125

B. 05

C. 0.75

D. 1.0

118. Use the quadratic formula to solve _»,xz L9 — 11=0

A x=_5_3and_]2_1
4
B. 9 J7
i
4 4
C. x=_1and£

2

D. no real solutions
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119. If the quadratic formula is used to solve_3x2 spedn o i ol what value should be substituted for

n in the equation below?

nt 13
E=

-6
A 5
B. 1
C. 1
D. 5

120. A ball is thrown in the air. The relationship between the time the ball is in the air, ¢ (in
seconds), and the height of the ball in feet above the ground (h) is represented by
h=—16£ + 20t + 6 How many seconds will it take for the ball to hit the ground?

A 1
4

B. 3
3
15

D. §

121. What is the solution set forxz ool 6?
A 6. 1}
B. {-3, 2}
C. {2, 3}
D. {-1. 6}

. . )
122. What are the solutions of the equatlonx_ e Y= BT

A —1+.17
2

B. 1x.47
7
-4.3
D. —3.4

123. Karen is solving the quadratic equation shown below.

¥ +12x-1=0
X¥+12x-1+1=0+1
X+ 12x=1

Which equation best represents the next step Karen would use to solve for x by completing the
square?

A x2+12x+6=1+6

B. x2+12x+24=1+24

C. x2+12x+36=1+36

D. x2+12x+144 =1+ 144
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124. What are all values of x for which(x —Nx+5=07
A x=3andx=5
B. x=3andx=-5
C. x=-3andx=5
D. x=-3andx=-5

125. A ball is thrown in the air. The functionh — 20¢ — qrzcan be used to find the height (h) of the ball
in meters after t seconds. How long does it take the ball to reach a height of 45 meters?

4

A l—j seconds
B. 3 seconds
C. 5 seconds

D. 6 seconds

126. A right triangle is shown below.

: 10in.
xin.

(x+2)in.
The relationship between the 3 sides of the triangle is represented by the equation
. (x + 2)2 _ 102 What is the length, in inches, of the shortest side?

A

o N oN

B.
C.
D

127. The quadratic formula is used to solvexz B, TS T T | TN LA bEsubstituted fornin
the following equation?

Tt .7
=
A6
B. 22
C. 41
D. 57

128. Which value should be substituted for n in the quadratic formula to solve xl— SO

it um
= a
A 2
B. 5
C. 10
D. 13
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129.

130.

131.

132.

133.

134.

Ify- = (), which value of x is the solution to x* = 9x?
A

I
|
o

WM oW oR
I
|
Lid

B
C.
D

What is the solution set to the equationxz — S IR = 10T

A ERSHE
B L4
C. (4,7
D {4.7]

What is the value of b if (3 + i) and (3 — i) are complex roots ofjxl by e I =AY

A 12
B. -6
C. 6

D. 10

What are the roots of the equationa,xl +Tx+d =07

A 717

——

B. —7+.17

——

C. =7
4

D. 7+J17

2

What is the solution set for the equation, 2 , 15, . 19 _ 2

A {-5. —4)
B. {-10. -2}
C. {2.10)
D. {4,5}

Which expression represents the solutions for the equationy 2 .. { _ 9

A 317
2

B. -3z2.]7
2

C. —3+.11
2

D. -3x2.f11
2
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135. An object is thrown upward out of a building window. The equationh 5 _lﬁrz + 408+ 24

models the height in feet, h, of the object above the ground t seconds after it is thrown. How
long does it take for the object to hit the ground?

A _lsecond

B. 1 second

C. 1_15econds
2

D. 3 seconds

136. Caleb kicked a ball. The functionh—(g] — _16¢° + 20 describes the height of the ball, in feet, t

seconds after he kicked it. How many seconds did the ball take to first reach 64 feet?

A 0
B. 1
C. 5
D. 8

137. The steps below show an attempt to solvea,xl ot G o)

Step1: x = ZEDEACY-40)0

X =
r[z}[l}
2+ ig68
Step 2 - x=+
1+iqg34
Step 3 - x=+‘}_
(1£f3

Stepd: x e {ﬂ}

2

In which step does the first error occur?

A Step1
B. Step2
C. Step3
D. Step4

138. An equation in the formaxz by e =% solved by the quadratic formula. The solution to the
equation is shown below.

-7+ .57
2
What are the values of a, b, and c in the quadratic equation?

A g=1 b=-T7 ¢c=-2
B. a=1 b=7, c=-2
C. gq=2, b=-7, c=-1
D

a=2. b=T7, c=-1

x =
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139. What is the solution set for the equation3xl 2 =

A a2
B.j_24l
1% 3§
C. |_4 21
732
D. 2 ,¥
"3

140. What is the solution set for the equation~,xj

2 _Ix+1=07

A {1+J_l
{””
o o
fe

D.

141. For what values of x doesa,x

A

_4and:

3

B. —_4and2
2

C. 4and_i
2

D. 4and_E

)

3

142. What is the solution set of the equation»,xz B e

A (=8, 3)
B [, 3|
2
c f, 3
-
D. {8, —3)

'qx_l'-.l‘—o".l
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143. What are the solutions for the equationg, 2 , .., _ 9

A 5
—Iﬂ.ﬂdl
B. 3
Iand—l
C. = oy
b
D. oo
3

144. The steps for solving quadratic equationxz

below.

Step 1: x%—dx=-2
Step2: xZ—dx+4=2
Step 3:

To continue the solution correctly by completing the square, what should be Step 3?

A x_2-7

B
C. x-2=2
D. (x—2)x+2)=2

145. What are the solutions to the equation. 2 1. _ 9

A x=—Rory=-2

B
C. yx=20ry=§
D

146. The equationa,wz — 18w + 40 = gcan be solved to determine w, the width in feet of a
rectangular enclosure. Which value represents a possible width of the rectangular enclosure?

A 2feet
B. 2.5 feet
C. 4feet
D. 8feet

147. What are the roots of the equation. 2 . 5. 3 _9

A —5+.13
2
B. 3%.413

.L:l

2
C. -5x437

5

(]

O

La

I+
5"
aa

-]

(3]

[]by completing the square, are given

A-REI.4 Schoolnet

Page 34 of 58

a schoolnet



148. What are the roots of the equationh.2 —Hv—3=07

A 3+43 3-.F

2 g

B. 3+43 —3+.453
gE B

C. 3+415 3-.f15
A

D. 3+.413 —3+.415
G S 7

149. A farmer has 50 feet of fencing to enclose a rectangular garden with an area of exactly 144
square feet. The area of the garden can be modeled by the equationx(25 —x)—144= 0.where

x represents the length of the garden. What is the length of the garden?

A 0

B. 12
C. 16
D. 25

150. Use the quadratic formula to solve ;.2 | 7., _ ¢

A —Tx 473
¥
B. 13
.
pe=ldy
v =—Hor—1
D. ooglyeyl
y= 92 _4:.

151. Myra’s tutor used these steps to solve the probleml sz —90

* Divide both sides by 10 to getxz g
*» Take square roots on both sides to get,- — +3

Using this method, what is the solution to?xz — 10087

A 13
B. 17
C. 12
D. +144
152. 5t 413

Which quadratic equation has aSits roots’

P
x2—5x+3=0
x*—5x-3=0
x2+5x+3=0
x2+5x—3=0

OO0 w >
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153. Which of the numbers is one root of the equation_2 Q- 2=09

X
A 4+.014
B. 4+3.2
C. 4+6.42
D

4+2.f14

154. What are the solutions to the equation below?
3xZ-5x—-7=0

A —5%.,109
2

B. —-5+,/109
&

C. 5zx4109
2

D. 5z%,/1085
&

155. What is the solution set for the equatlonxl +x—42 =07

A {-7.6}
B. {-6.7}
C. {6)
D. {7}

156. What values of a result in the equation ax*-12x -3 =6 having complex
solutions?

A a<-12
B. a<—4
c. a=4

D. a-=18
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157. If x(x + 2) = 8, then x =

A

B.
C.
D

Dor—2
Oor4
2or —4
6or8

158. What are the roots of the equation3x2 Oy — 5 (7

A

-0+ .21
§
-9+ 141
6
9+.21
§
9+ .J141
6

159. Which function has two negative roots?

A

B
C.
D

f)=—x"—8x + 12
f)=x>—5x—14
f)=x>— 10x + 16
f[x_}:x2+9x+ 18

160. Using factoring, what is the solution set to the equationrz — T4 12=07

A

B
C.
D

161. What are the solutions for x in the equation

A

B
C.
D

3.4}
(2.6}
(.43
(5.73

X+ 6x+3=07
x=6orx=3

x=—200x=-3

x==3+2.3%x=-3-2.3
x=—3+£°rx=—3—lu"g

162. What are the x-intercepts of the graph of the equation, _ 2x2 =37

A

B.

=

and 1

b | a2

and — 1

b | td b |

and 1
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163. What are the roots of the equation3x2 pipn o A

A

ds
I+
e

@
L
H+ ws
&

o
I+
_é?l!.u

W)
e
I
&1

[¥¥]

164. What is the solution set for the following equation?

165.

166. What is the solution set of the equation(y — 9)(x) = 2x — 5x — 87

The relationship between the 3 sides of a right triangle is represented by the equation

X2+ +TE=17%

17 cm

Xcm

(x+7)cm
What is the length, in centimeters, of the shortest side?
A 5
B. 8
C. 10
D. 15

A4

B. {2, 4]
C. (2,4
D. {2, 4]
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167. What are the solutions to the equation below?

2

x°— bx=-3

A x=-312.[6
B x=-3+./6
C. x=3+2J6
D.

x=3+./6

168. Which quadratic equation has these solutions:__g 77
il

4x*—63x+4=0
4x*—19%x—63=0
4+ 19x—63=0
4x?+4x-63=0

oo w >

169. What are all values of x for whichx(x —-4H=07

A x=4only

B x=0and x=4

C. x=2and x=-2only
D

x=0and x=2and x=-2

170. Which value of x is a possible solution to[2x — 10M(3x+ 12) =07

A x=-34
B. x=-20
C. x=-5%
D. x=—4

171, An equation in the form (HE + bx + ¢ = (is solved by the quadratic formula. The solution to the
equation is shown below.

0+ .80
P =
What are the values of a, b, and c in the quadratic equation?

a=1 b=-9 =2

B. gq=1, b=-9, ¢c=-2
C. gq=1, =9, c=2
D. ga=1 =9, c=-2
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172. The area of a trapezoid can be found by the formula 4 — _ih(g,l +by).

e by >

;

ih

.

I+ -b,E i
The area of this trapezoid is 12 square inches. If,{;1 = jandp, = J; + § what is the length of h?
A 2
B. 6
C. 8
D. 10

173. What are the values of x in the equation(x e 8)2 =79

A (8E4T)
B {7248}
C. {-7+1./8]
O {87}

174. Use the quadratic formula to solve ;2 | 5., _ 4

A .
oAt
" 2 p
B.
L=—5i£
= X
yv=—4or —1
D. 1 1
yv=—6f-or — 3=

175. What number must be added to both sides of the equation,.? _ _jx = 3to solve the equation by
2

completing the square?

A 4
23
B. 3
4
c. 23
16
D. 23
4
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176. A ball is thrown upward at a velocity of 16 feet per second from a height that is 60 feet above
the ground. The height, h (in feet) of the ball at time, t (in seconds), after it is thrown, can be
found by the formula below.

h=—16£ + 167+ 60

Find the time, in seconds, when the ball is again 60 feet above the ground.

Al
B. 3
F
C. 2
D. 3
)

177. In solving the quadratic equationxz e Dby completing the square, the following steps
are given.

Step2:,1_ 6y +9=7+9

Step 3:

To continue to solve by completing the square, what should be Step 3?
A x—-3=16

B. (x—3Y=16

C. (x+3Y’=16

D. (x+3Nx—-3)1=16

178. Andrew dropped a rock from a cliff 49 meters high. The functionh(;-} = _—_1_9;2 + 4Qrepresents

the height of the rock, in meters, t seconds after he dropped it. Approximately how many
seconds did the rock take to reach the ground?

A 3
B. 4
C. 10
D. 49

179. What is the solution set of the equationxz . T 40?

A {10, -4}
B. {10, 4]
C. {—4. 10
D. {4. 10}
180- which quadratic equation has_l% “"ﬁas its roots?
2
A xlox—3=0
B x2_x+3=0
C xl4x—3=0
D 2 4+x+3=0
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181. The sum, S, of n consecutive positive integers is given by the formula § = g(n + 1). If the sum

of n consecutive positive integers is 66, what is the value of n?

A 11
B. 12
C. 23
D. 33

182. A ball is thrown upward from the top of a building 320 feet tall. The height, h, of the ball ¢
seconds after being thrown is given by the equationh i —161‘2 + 16+ 320 After how many
seconds will the ball hit the ground?

A 1
B. 4
C. 5
D. 20

183. What values of x satisfy 2x?-4x+5=07

[—1+£,—1—£ ]

2 2

184. Which is the first step in solvingxz TOL T, []by completing the square?

A add 12 to both sides
B. divide each term by 8
C. subtract 12 from both sides
D. subtract 8x from both sides

185. A ball is thrown into the air. The functionh — = ;rlcan be used to find the height (h) of the
ball in meters after t seconds. How long does it take for the ball to reach a height of 20 meters?

4
A & second

B. 2 seconds
4 seconds
D. 5 seconds
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186. What are the roots of3x2 T

A —5+.o7
6
B. 3+.07

-

3
C. 35+.43

O
h
I+
L= ]
&
—

187. John solved the equationle r— -J,-by using the quadratic formula. His work is shown below.
nt 37
i ot
What value should John substitute for n found in the equation above?
A 7
B. -1
C. 1
D. 7

188. What are the solutions for the equationx2 o .

-6, 1
B. =§ =9
C. —1.6
D. 2.3

189. What are the solutions to the equation4x2 T — 2 =7

A, 1
-4 or —

4

B. 1
-1 or E

C. 1
1l or =35

D. 4 1
& or ——

4
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190. To solve the quadratic equatlon N []by completing the square, the following steps
are given.

Step1:,2 _ 12x—64

Step 2,2 _ 12x +36=100

Step 3: ?

To continue the solution correctly by completing the square, what should Step 3 be?

A (x—6)x+6) =100

B x?=12x+64
C. (x—6)Y=100
D. x—6=100

191. What number should be added to both sides of the equation below to solve the equation by
completing the square?

i) 1
x+-x=3
5
A 1
100
B. 1
25
c. 1
5
D. 2
3

192. The area of a rectangle can be represented by the expression4x2 +8x 40 If the area of the
rectangle is 69 square inches, what is the value of x, the width of the rectangle, in inches?

A 3inches
B. 4 inches
C. 5inches
D. 6 inches
193. What is the solution set for the equatlon e iEY

A {-”J— —5-415 |
{JM’_ J-.J'__LJ
C. {—J‘Fﬂ.l,_ —J—Jj_El
P

2|
J+J~.|l_3 J—aj'-'_l
J

D.
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194. Which of the following quadratic functions has complex roots,- — _2 1+ 3jand» = —2 — 37

2
A xltax-5

x2—4x—5
Xt —4x +13
x> +4x+13

O o ®

195. A ball is thrown upward from the top of a building that is 160 feet tall. The height, h, of the ball
t seconds after being thrown is given by the equationh % _lﬁrz + 487 + 160" After how many

seconds will the ball hit the ground?
A

=L L k2

B
C.
D

196. The towers of a suspension bridge are 800 feet apart and rise 162 feet
higher than the road. Suppose that the cable between the towers has
the shape of a parabola and is 2 feet higher than the road at the point
halfway between the towers.

800 feet

162 feet

What is the approximate height of the cable 190 feet from either
tower?

A 80 feet
B. 74 feet
C. 22 feet
D. 46 feet
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197. The quadratic formula is used to solvexl _ =

S . DWhat value should be substituted for n

in this equation?

S+ A
L
A 13
B. 17
C. 18
D. 33

198. Solve3x2+ 7 I:Ifor X.
2
A x= —Oorx=3
2
2
B x=-Zorx=3
3
C x=Zorg=-3
3
D. x——éorx——B

199. The first two steps in solving the equationqxz Y . Uby completing the square are shown

below.
Step I- 2x°+5x =3
3. .5 3
il s
Step 2 x“ + 5=

Step 3: ?

Which equation is Step 3 in the solution?

B. x2+éx+15=§+15

c x2+—;x+?=—j+?
A

P x2+§x+1—;——;+1—;

200. What are all values of x for which(zx —4)6x—3)=07

1
A x=—only
5 o
B. x=2only
1
x=—jandx:20nl}'
D. 1
x:[]andx:;andx:lmﬂv
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201. What is the solution set for the following equation?

x*—6x+9=16
A EFER

B. {-1.7}

C. {3.4]

D. {3}

202. What are the roots of the equationgxz By D = A

A (2 1)
I
B (2 1)
5 3)
o (2 1
(2 -
0. (2 1)
(24

203. What are the solutions t°|:| ) xE + 10x+ 217

A x=-Tandx=-3
B x=—Sandx=-2
C. x=10andx=11
D. x=landx=21

204. The length in inches of each side of a square is given by the expression x + 2. The area of the
square can be represented by(x &+ 2}2 — 16 = pwhen the area is 16 square inches. What is the

value of x?
A 2

B J12
C. 4

D. 6

205. What is the solution set for the equatlonxz < e PR =T

A {—6,-3]
B. %)
C. {-3.6)
D. {3.6]
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206. |f the quadratic formula is used to solvel,2 _ .. _ 3 _ o what value should be substituted for n
5 4

in the equation?

A=

1+.07

n

b | =

L
bt | =

207. What is the solution set to the equationa,xz . SO | R L

A

L

I
o

Bl s kol balua kol wa

L
|

208. Which statement is true for the equationa,xz N T S T

A The equation is true for both positive and negative values of x.
B. The equation is true only for all negative values of x.
C. The equation is true only for positive values of x.
D. The equation is never true.
209. The area of a square can be represented by the expression4x2 B — l_lf the area of the
square is 121 square inches, what is the value of x, in inches?
A 4
B. 5
C. 6
D. 1

210. A toy rocket is launched upward from the ground at a rate of 64 feet per second. The function

A

= _15;2 + g4 represents h, the height of the rocket, at any given time, t, in seconds after

the launch. How many seconds after launch will the rocket hit the ground?

A
B.
C.
D

2
4
16
48
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211. A ball is thrown upward at a velocity of 15 meters per second from a height that is 20 meters

above the ground. The height h (in meters) of the ball at time t (in seconds) after it is thrown
can be found by the formula below.

h=—5¢ + 15¢+ 20

Find the time when the ball is again 20 meters above the ground.
A 1 second

B. 2 seconds

C. 3 seconds

D. 4 seconds

212. |f the quadratic formula is used to solve_lx2 — 3x + 2 = (> what value should be substituted for
z

n in the equation below?

3E5
E=

M
A -6
B. 1

2
C. 1
D. 3

2

213. What is the solution set to the equatlonx2 —dx+5=507

A (-9 -5}
B. F9..5)
C. {-5. 9}
D. {5:..9]

214. What is the solution set of the equation»,xz e

A {43}
B. {-3.4)
C. [, 3]
| ™ 2]
D. [_3 5]
L
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215. |f the quadratic formula is used to solvel,2 . 7, _ 3 _ g, what value should be substituted for
2

n in the equation below?

-

w >

o

216. Which expression represents the solutions for the equationa,zl B S

A

—2a+.f10

M

b | 1 & I,ul.—nJL

3x45

2

aa
1+
2]
ol

%]
I+
(%)
—
[

s
I+
[ S )
o
wh

[R¥]

217. Which equation has roots of_jand 27

A

B
C.
D

x—1)Yx—-2)=0
- Dx+2)=0
c+ 1)x—2)=0
e+ D) +2)=0

218. What values of x make the equation3 - xl — xtrue?

A

1+ .5
2
1+.5

2

[
I+
(3]
—

[
I+
(3]
o

it

A-REI.4 Schoolnet

Page 50 of 58

a schoolnet



219. If the quadratic equation 2x*—bx =8 has two real solutions, which of
these describes the possible values of b?

A b<-Borbkb=8
B. b<-8orkb=8
C. b can be any real number.

- b can have any value that makes b’ +64 a perfect square.

220. Which expression represents the proper use of the quadratic formula to solve the equation

xP=6x+47

A 6x.36-16
2

B. —fx.36+16
#

C. 6+.36-16

2

D. 6+.36+16

221. If .2

A 4 only
B. +4
C. 8 only
D. +8

222. Using factoring, what are the solutions to the equationsz s ol D?
A x=-3orx=4
B. x=-1orx=12
C. x=8orx-4
D. x-1orx=-12

223. Which quadratic equation has it *"ﬁas its roots?
2
Ayl 7x+3=0
2
B x?—7x-3=0
2
C X +7x+3=0
D x4+ 7x-3=0
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224. A scientist is using the functionP(rI} = ;2 + #+ Ito calculate the number of bacteria present in a

specimen after t minutes. How many minutes have passed when there are 57 bacteria present
in the specimen?

A7
B. 8
C. 14
D. 16

225. The formulas At lﬁrzis used to approximate the distance s, in feet, that an object falls freely in t

seconds. How long will it take a twig hanging 725 ft above the soil to reach soil when it breaks
off the tree?

A about 2052.1 seconds
B. about 45.3 seconds
C. about 362.5 seconds
D. about 6.7 seconds

226. Which value of x is one solution to the equation(y + 8)(x — 3) = (?

A x=8
B. x=0

C. x=-3
D. x=-8

227. Which expressions are the solutions to the quadratic equationgxz i =439

A —5+.07 —5- 07
and
g g
B. 3407 5— .97
and
g g
C. 5+i47 5— A7
and
g 3
D. 5+if0d 5—iJ0d
g and—

. . . )
228. Which number is a solution tox_ e 0= T

oo w
-—

229. A ball is thrown into the air. The functionh —{0g = qrzcan be used to find the height (h) of the
ball in meters after t seconds. How long does it take for the ball to reach a height of 5 meters?

1
A : second

B. 1 second
2 seconds
D. £ seconds
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230. Which function is related to the quadratic equation that has the real number 8 as its only
solution?

A fay=x"-8
B. fx)=x%-64
C. flx)=x"+16x+64
D flx) =x? - 16x + 64

. . . - o
231. Which of the following numbers is one root of the equatlonxz el e’

A 3+.010
B. 34+2.12
C. 344
D. _3+2.10

232. What is the solution to the quadratic equationgxz +30x+25 =07

A

wa | s s | wa

wa | L owa | ea

233. If the equation (x+a)*=b has non-real solutions where a and b are real
numbers, which of these must be true?

A b-a is not a perfect square

B. b is not a perfect square

C. b—a<i

D. b<0D
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234. To find the roots of the quadratic equation3x2 B U_Carla correctly applied the

quadratic formula. Which of the following is that correct application?

A 2 22— 40))

e 23)

B 2o’

e 20)

¢ _4nxor-wm

% 23)

D _ -0

% 23)

235. Marcus threw a rock from a bridge. The functionh(r} . _]532 + 487 + gagives the height of the

rock, in feet, t seconds after he threw it. How many seconds did the rock take to reach the
water?

A 1

4

16

64

Cow

236. What are the solutions of the quadratic equation below?

x2—4x-6=0

A x=2+2

B. x=-22%\2

C. x=2%,10

D. x=—-2%,10

237. What are the solutions tox_zzi_ 17

44 11

A 2+.3and2-.3

B. 2+4.f3and —2-4.3

C. 2+2iJ10 and2 — 2iJ10

D. _2+4iJ10 and — 2 — 4iJ10
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238. An equation in the form ac® + bx +c=0 is solved by the quadratic formmla The

239.

240.

241.

solution to the equation is shown below.
_ T+l
2
What are the values of a, b, and c in the quadratic equation?
a=L k=T ¢=3

B. gq=1, b=-T7, c=-3
C. g=1,5b=7,¢c=3
D. a=1b=7, c=-3

Which equation shows the first step in the solution ofxz Ty .
40
A & -8
40
B. x2+?x+—j=—8
C. 2 49 49
“t+Tx+—=—8+—
x 2% 3 r
2 49 49
D. .'J.’.'_"l'?.'k’."l'—j=—8'|'—j

_Sby completing the square?

The function below describes A, the area of a rectangular garden, in square feet, where x
represents the values of the length and the width of the garden, in feet.

A(x) = —x” + 35x

If the area of the garden is 216 square feet, what is the length of the shorter side of the garden?

A 6 feet
B. 8feet
C. 27 feet
D. 36 feet

The area of a trapezoid can be found by the formula 4 — _1;3(51 + b9).
1

I+ b, »

L oo i

F

b

¥

Note: Figure not drawn to scale

The area of this trapezoid is 15 square inches. If,{:1 = Ir'qand,E;2 = 1 + 4, find the length of h in

inches.
A 3
B. 5
c. 7
D. 13
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242. What are the solutions to the equation below?
3x?-2x-8=0

A 4
H=——,X=2
3
B. 4
==, x=-2
3
C. 2
X=-—=,x=4
3
D.

.4

oo w >
l)‘ql

L

244. What number must be added to both sides of the equation,.2 _ —3x = Jto solve the equation by
2

completing the square?

A 4
@
B. o
16
c. 3
4
D. %
4

245. A ball is thrown in the air. The relationship between the amount of time the ball is in the air in

seconds (f) and the ball’s distance above the ground in feet (h) is represented by the equation
below.

h=—16t"+30¢+4

How many seconds will it take for the ball to hit the ground?
A

BN | pal e
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246. What is the solution for the equatlonxz B T Ag

A {—j+2.ﬁ -5-2471

2 2 J

B. [5+2f7 5-247]
Fae o)
C. [-5+.453 —i—ﬁl

o5

+453 5-.53

3 F 2

o
s,
Lh
Lh
e

247. In solving the quadratic equationxz e B M= I:]by completing the square, these steps are
given.
Step 11,2 4 gx =20
Step 2,2 L 8x+ 16 =20+ 16

To continue solving the equation by completing the square, what should be Step 3?

A x+4=36
B (x—4)*=36
C. (x+4)=36

D. (x+4)x—4)=36

. . . . :
248. Which value of x is a solution to the equatlonx_ 12+ 36=07

A x=—6

-3

ST T T
I

B
C. x=3
D 6

249. Which expression shows a correct use of the quadratic formula to solve the equation
)
x“=5x-17

A —5z.25-8
=
B. —5x.25+8
=
C. 5tJ5_%
==
D. 5+.25+8
===
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250. John solved the equationa,xl o~ zby using the quadratic formula. His work is shown below

nt 40
B
What value should John substitute for n found in the equation above?
A -5
B. 3
C. 3
D. 5
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